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Question 1:    If  
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 , then find  

 
I. The minor 23M  and the cofactor 43C  

 
II. A  

 
Answer: (I):  23 18M = −        43 6C =  

Answer: (II):  18A =  
 

Question 2:   If 5
432

111
=zyx , find 
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Answer:    
2 3 4
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2 2 2

x y z− − − =
− − −

 

 
Question 3:  If  A  is 33×  and B  is 4 4×  invertible matrices, such that 2A = −  and 

3B = , then find   21 12 3
2 9

A B− . 

Answer:   81.5−  
 
 

Question 4:  If   
0 1
1 1 1 0
1 2 3

k
k − =   then  k =  

A) 1   or 2  
B) 1−    or  2−  
C) 1−  
D) 1−    or 2  
E) 2 
 
Answer:  1, 2k k= =  
 


